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17. What is a climax community? BN
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22. How do humans impact the CarbonkCycI;’%?\‘:‘g) ¥

Human Population Growth

Population size {billions)
o

7 T T T T T
B000 4000 3CG00D 2000 1000 O 1600 2000 2

1 BL. b K
23. Time {years)

a. What is the title of this graph? Mwm\&,\ P@Pu Yﬂa%&f\ G’%’@"’*} Ha

Shewia
b. What is the graph el-cs~[a+et|+qg:5 Podulahea chan over J:me.
Z:’XPM(n-\-Jql é—row";i—"\. =
Population Growth Over Time

n
& 1 i : :
S4l1h 02 1 3 1 4
] ! | ! ]
= i 1 ! i
E ] } !
- 1 I Y 1
o 1 i i 1
g ! | j

f ! i i
-E ) i [ i
z i 1 i

24- Tl'me e,

a. What is happening during period 1? S!ou\) 3(3\_)“\ bes)ﬁ_\g
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d. What is happening during period 4? ik ale 29 sl |



